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logarithm. © , © -Daten uy=(A - 550) / 502

log - =(log - +logL)/2 log = = —0,35u)-u ]2

log- =log +0,35 logL o= —0,35l)\~Us7d
, G: 2, Lo ] Adaptation: A | =520

maximum
log(“m)=—0,35]
m=0,44
Schwelle
tg:0,00

500 600 700 A/nm

CG030-1N
, =.-Daten uy=(A - 550) / 50
=(log - +logLy)/2 log - =-0,35u)-u ]
+0,35 logL = —0,35l)\~Us7d
,Lol Adaptation: A =520
570

maximum

log(“m)=—0,35]
m=0,44

Gchwelle

500 600 700 A/nm

CG030-3N
-Daten uy=(A — 550) / 502
+loglLo)/2 log - =-0,35u)-u ]
+ 0,35 |Og Lo= —0,35!.])\—U570]
,Lol Adaptation: A | =520

-Daten uy=(\ — 550) / 502
+loglo)/2 log = -0,35u)-u ]2
+ 0,35 |Og Lo= —0,35!.])\—U570]
,Lol Adaptation: A =520

500 600 700 A/nm
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logarithm.
log

log [

-Daten uy=(A — 550) / 502
+logLo)/2 log = —0,35\-u ]2
+0,35 logLo = —0,35)\~Us7q
, Lol Adaptation: A =520

570

maximum
log(“m)=—0,35)
m=0,44
Schwelle
tz=0,00
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600 700 A/nm
CG030-2N
uy=(A - 550) / 50,
+logLo)/2 log = —0,35u\-u ]2
+0,35  loglo=-0,35[~Us/q
,Lol Adaptation: A =520
570

maximum
log(“m)=—0,35
m=0,44
Schwelle
1a=0,00

CG030-4N
uy=(A - 550) / 502
+loglLo)/2 log = —0,35\-u ]2
+0,35 logL o= —0,35u)~Us7d
,Lol Adaptation: A =520
570

maximum

log(“m)=—0,35)
m=0,

Schwelle

=0,

3

-Daten uy=(\ — 550) / 502
+logLo)/2 log = —0,35\-u ]2
+0,35 logLo = —0,35\~Us7q
, Lol Adaptation: A =520

570

maximum

Schwelle
=0,
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700 A/nm

CG030-8N

uy=(\ - 550) / 502
log  =-0,35u)-u ]2
|Og Lo= —0,35[.])\—U57o]
Adaptation: A | =520

570

maximum

log( m)=—0,35]
m=0,44

Schwelle

tz=0,00

CGO031-1N
uy=(A - 550) / 502
log  =-0,35u)\-u ]2
logLo = -0,350\~Us7d
Adaptation: A | =520
570

maxirnum

i0g( m,=—0,35]
m=0,44

Schwelle

tg=0,00

CG031-3N
uy=(A - 550) / 502
log  =-0,35u)-u ]2
logLo = -0,350\~Us7d
Adaptation: A | =520
570

U=(A - 550) / 50,
log  =-0,35u)-u ]2
|Og Lo = —0,35!.])\—L|570]
Adaptation: A | =520

570
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CGO31-7N

uy=(\ — 550) / 50
log - =-0,35u)-u ]2
|Og Lo= —0,35[J)\—U570]
Adaptation: A =520
570

maximum

log( m)=—0,35]
m=0,44

Schwelle

tz=0,00

CG031-2N
uy=(A — 550) / 502
log - =-0,35u)-u ]2
logL o= —0,35u)~Us7d
Adaptation: A =520
570

maxirum

‘og( m,=—0,35
m=0,44

Schwelle

tz=0,00

CG031-4N
uy=(A - 550) / 502
log - =-0,35u)-u ]2
logL o= —0,35u)~Us7d
Adaptation: A =520
570
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u=( - 550) / 50,
log - =-0,35u)-u ]2
|Og Lo = —0,35[J)\—U570]
Adaptation: A =520
570
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keiten und ErregungebMS-R17_Mx (x=1,2,3,45chwelle £=0,00 und 0,01
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